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Trigonometry2 Assignment #7

1. Verify the following identities for the given value of the variable:

cos X 1 )
2) colx=——forx=— b) sin®x+cos’x=1forx=
sinx 3 _

2. Verify the identity 1 +cot’x = csc? xfor the given values:

14 4n
a) x:g b) X:“3—‘

3. Factor to write each in a simpler form.

. . 4 4
a) secxsin’x—secx b) sin” 6—cos” O

] =



5.

1-cosx V tan x — sin x p 2
c)

~In each of the following :

i) verify the possibility of an identity using a graphing calculator
ii) prove the identity using an algebraic approach

iii)state any restrictions.
. tan Bcos 0 y . g
a) ~—en8 - 1 b) sec?x —sinx=cos?x+tan®x

Prove the following identities using an algebraic approachi.
a) (locoszx)(cscx)=sinx b) (sinx+oosx)2=l+2sinxoosx

Pt

- = - . d T
sinx tan x sin x ) 1-sin

=4 sec’x

+ -
x 1+sinx

f) SﬁcmeO%X“"EiEE
cotx



In questions #7 - #11 assume the appropriate restrictions.

CO8 x

7. is equal to
1—sin“x
A. secx
B. c¢scx
C. sinx
D. tanx
cSCX .
9. otx S equal to 10.
A. cosx
B. sinx
C. secx
D. tanx

11. secx-—cosx isequal to

1—cosx
COs X

sin® x

1~2cosx
cOs X

sin x tan x

12.

Wtanz o % 1 is equal to
sec x
A. secx
B. cscx
C. sinx
D. tanx
cos’A

tan A
The expression ——————, expressed
P 0 sec A P

interms of sin A 1s

AL sin A
1-sin?A
g ~_sin2 A
sin A
C. sin’A

D. sinA-sin’A

Which of the following in NOT an
identity?

A. coslx+sinfx=1
B. sinx+cosx=1
2

C. seclx-tan’x=1

D. tanxcotx=1



13, Janx#0,cosx#0,cotx# Othen 14, Ifsinx#0,cosx# Othen

| < eaual to tanxcosx . alt
anxcosxcotx - J 3 sec xcot x 1s equatio
1 1
A, —— A, =
sin x 3
B. sinx B. 3
1 1
C. C. = sin’x
cos x 3
I 2
D. cosx D. 7 cscTx ,
15. When verifying the identity co’ x+1=csc?x forx= :775 the value on each side of tbé

3

identity, to the nearest tenth, is :

(Record your answer in the numerical response box from left to right)
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